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SECTION – B (Grammar and Vocabulary) 

16. Combine the following sentences using “which”.      12 = 2 

 The Prime Minister made a historical speech. I could not understand it. 

17. Change the following sentence into passive voice.      12 = 2 

  Father had provided for my education. 

18.  Combine the following sentences using “As”      12 = 2 

 The father neared the house. The children came running to him. 

19. Fill in the blanks with suitable prepositions given in the brackets.   21 = 2 

 a) ________________ (in case of / in the case of) emergency, call me 

 b) My younger sister is afraid ________________ (with / of) cockroaches. 

20. Fill in the blanks with suitable form of the verb given in the brackets.   21 = 2 

 The father _______________ (already sleep) before she ___________ (come) to her house. 

21. Your friend has lost his money in the beach. Advice him not to carry more money in open 

places.            21 = 2 

22. Change the following sentence into a polite request.      21 = 2 

 You to your teacher: I want to leave the class room.       

23. What do the following sentences mean?  
Choose the correct answer and write it in your answer book 
             21 = 2 
 i) I was not trained enough for the game  
  a) incapability    b) adequacy    
  c) poverty    d) in adequacy   
     ii) Shall we see a film to night? 
   a) asking a question   b) making a request  
  c) making a suggestion  d) making an offer  

24. Read the paragraph and write the synonyms of the underlined words choosing from the words 

given in the box.          41 = 4 

  

  The forested mountains were the source (a) of water and the source of rain, so when you 

deforest you cause a shortage (b) of water and a change (c) of rainfall patterns (d) and therefore 

people are not able to get food and water. 

 

25. Read the paragraph and match the words under ‘A’ with their antonyms under ‘B’ write your 
answers and their corresponding numbers in your answer book.   41 = 4 
 The last time the two friends (a) met, Ray was in hospital on his deathbed. It was a Sunday and 
Roberge, true to habbit, arrived (b) on the dot at 9 a.m. ‘He had grown so weak (c) that he looked 
frail as a child (d) 
  A     B 
a) friends   [ ] 1) departed 
b) arrived   [ ] 2) grown-up 
c) weak  [ ] 3) reached 
d) child   [ ] 4) rivals 
      5) pleasure 
      6) strong 
 

Deviation,    regularity,     dearth,      origin,      variety,     designs 



26. Fill in the blanks with the right form of the words given in brackets.    41 = 4 

 Father was ________________ (a) (quiet / quietly) for sometime. He ________________ (b)  

(thought / thoughtful / thoughtfully) looked at the sun for a __________________ (c) (moment / 

momentary / movement) and then his eyes fell on the can of home made wine that I was 

________________ (d) (carried / carrying / carries) 

27. Complete the following spelling of the words choosing ‘ae’, ‘ea’, ‘ee’, ‘oo’, ‘ou’, ‘ai’, ‘ia’, ‘io’,  

‘oi’,  or ‘au’.           21 = 2 

 Mrs. Slater : In the kitchen : but you want to new (a) p__ __ r, those old ones are (b) n__ __rly  

      worn out. 

28. Complete the words with correct suffixes in the brackets:    21 = 2 

 a) His disability came without any Medi __________ (kal / cal) explanation a rare 

 b) Occurr_________ (ence / ance) called phocomelia. 

29. Find the wrongly spelt word and write correct spelling.     21 = 2 

     a) system,      confronted,  iminent, perturbed Ans:___________________ 

     b) ceremony,   special,     marrage , children Ans:___________________ 

30. Read the following dictionary entry of the word given below. 

 Handsome / hxnis m / adj 1 (a) a man who is handsome looks attractive             good looking an 

extremely handsome young man / sam was tal, dark and handsome his handsome face (b) a man who 

is handsome looks attractive in a strong healthy way. 

Now answer the following questions using the information above    21 = 2 

 a) What part of speech is the word handsome? 

 b) Write the synonym of the given word? 

31. Arrange the following words under correct heading:     8 ¼ = 2 

 

 

  Alliteratives    Rhyming words 

  _______________  _______________ 

  _______________  _______________ 

  _______________  _______________ 

  _______________  _______________ 

32. Match the following one word substitutes with their meanings:    4 ½ = 2 

  Part – A                Part – B 

1)  inimitable  [ ] A) a person who abstains from taking alcohol 

2) theist  [ ] B) a position for which no salary is paid 

3) spend thrift  [ ] C) a life history written by oneself 

4) teeto taler   [ ] D) one who spends too much 

      E) one who believes in God 

      F) that which cannot be imitated 

 

 

 

 

  

Tick-tock,  nitty-gritty,  hitsy – bitsy,  hurly – burly,  tip – top,   chit – chat,  hip – hop,  teeny - weeny 
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